OSmK--- S HEHERSHS g
BT, BTHEESRAR

EFRF—-FHHAFHERNRAE (1)

—. H—HH. =14, %284

1. 96+3, AILUXFEAE: ( )»=3=(C ), ( »3=(C ) ( )
+C )=C )

2. —ALKA 6 4K IETT TEARSAERL L —APAT UL, XA
AT VYT 4 A K2 )e

3. M\ 100 BHIZESEW Z: 5, ERZET 0, HLEREC M5

4. 2028 - f&( VEECH P EE), A ( YKo

5. N3 B 24 B IR IR A ( Yo

6. HFHANKITE, KEZ 4 BK, FE#e 2 BEK. RHEeEfIpim
AT BRI ML HEK, HRKE( HEX.

7.3 R=( OB 8M64=( )T

8. 10.05 AE: ( ) 100.12 521E: ( )
LEENEE: ( ) TANRENINEE: ( )

O e —
0. 677:@0.5477: 1.4 ﬂé@l.oﬁé
3 Hﬂ“@lso I 24x3©23><4

10. — PRI EGHITERK 55K, 98 45K, WAGEEH 7 2 H,
T K

11. EiifaRss, —msETmm 12.8 7o, WERMEHE 1.2 75, Xl
DeFmAEN (. )Jt.

12, SRIREIT— A, KM T TR ANE 161, X P 70 )2

1 -,-i
SRUS te, Sk, EE, SR

§ IS T, BIOEKSESMRER

’é':"‘,;., et




OSmK--- S HEHERSHS g
BT, BTHEESRAR

( ) TURI( )T
= AH—HA CHOEC”, SREC)@E 145, 54
1. IE K B 1K 4 5. C )
2. BFEFHAET 2002 4E 2 H 29 H. ( )
3. FEUFR/NEIINRIERS, B N T, R AR [ AR 5
C )
4. F 24 BHFRE, SE— R0 24 B, kR ORI 1A
C )
5. 10x0>2x0 C )

=, E—ik. (KREMEBERNFEHRERSR)&B 17, o)
L. WNAEIPETN = K IETT I, ENIETGERAKEC ).

S
]%
105K
A. 40 JE K B. 16 JEX C. 28 JEk

2. EAE 3L _Jox5 FARACRERAG 40, L JEALIHC ).
A. 2 B. 3 C. 4

N EER - FENESEHEERANA, EIFE 62 K, XHAH
ATRER( )

A. 11 HAM 12 H B. 7HM8H C. 2HMI1H

w

4. /NRIF B Ee 140 K, SEVNGRC ).
A. 0.14 K B. 1.40 K C. 1.04 K

5. —ARITEMAKSE 46 70K, K2 13 02K, 5i£( )k
A. 20 B. 10 C. 33

RS s, T8 BN, SRR
Bedb WS T, AIEES KRS




OSmK--- S HEHERSHS g
Y
S TH, ATEES R

6. KRBESINEF R, AW LR PIFETFH— %57,
IR — A LR — A PR — &, WA M AR
Jii%e
A. 6 B. 5 C. 3

M. #—&. 34

f. B8, &GH 84, £244)

1. E‘—‘%7 —‘7 %:—Aﬁo
(1) 15 x 3=

00O00OOOOCOOOOOD
Q0000000 CO0000C0
Q0000000 OCODO0OOOO

2. HESHH
102x4= 180+6= 84+2= 5600+7=

0x327= 19x4= 343—19= 12.8 t+3.2 6=

4 — o
SEea 1%, T, BR, RBIR T

SR IO, ETNEESREAE



OSmK--- S HEHERSHS g
1T, BAREESHRRE

3. AR,

53x7= 708%x5=

698—321+118= 17.6 ;t—8.7 7=

VI

75 AR, (2, 6 GBS 4, 3, SHEH 84, HAFEH 447,
3t 34 43)
1. AENFENNER, BNERAE 3N, HUH 45 %5245, 4

BNE— G2 e

2. ¥RIERE 8 BREM. NIKET 520 76, WHERT 180 T, —3k
£

Z /b

?

&
gl

3. BEHESCRBEFpINT, #ERSK 6 K. T8 5 KK IR T4 it
o
()% ST T O P KR 22 /oK 2

4 1 — -
oy 0%, Fih, B, BRI

ShaRe ST, EONEESMEAR



AT, BIEkEESMERR

OS8R ERNFENERSES  hg

R T, BRREESERR

(2)—FLE L 206 Pulthnk, AEHAL 7 70, 1 1500 TN ?

4. AE T 5 R B e E A 12 EOKR R DT IR IE T & — A

5. I EAES H HRARER U N L. (B4 T FLi)

wE | —A | =B | =H | WA | HA

BEH | 354 | 496 | 605 | 695 | 790 | 912
(FE: — H AR EHCH 180 T L)

()L L I RS 2 WA 7T i b 2

Sk
an

) LA 2 DT L ?



OSRG-S FBHERSHES i
ST, AEREESRERR

6. NEXLT—AKHH, 3350 70, fEERTEILLIE 25 71, B 12:
00 HarE, —HAEF 16: 00, XAPTERE N2/ LIUEEE? ME
BRMREE, SNEILITGE?

bS e, ik, ES, MR
=Y IS TH, BENEESREE



OSmK--- S HEHERSHS g
1T, BAREESHRRE

EE
—. 190 30 6 2 30 2 32
22447 K 320 4.5 366
5150 6.4 16 7.72 0.86
8T HENL —HR—I 7.09 16.68
9> > = < 10400 11.14 12.80 81
—. 1N 2x 34 4x 5.

=+ 1B 2B 3B 4B 5B 6.A

F. 1.(1)15x3=45

0000000000000 O0
000030000000000
00000Q0O0000J0OO0O0O0O0
(FEVEAME—)
(2)36+3=12

(3)320—48x5=80(TK)
(4)45+17+45=107(F)
2408 30 42 800 0 76 324 16.0 G

3.371 3540 495 8.9t

SR s, T, R, ERTHIE
SRk T, HITREESHESE




OSmK--- S HEHERSHS g
1T, BAREESHRRE

75+ 1.45x3x6=810(%)

e LRI 810 &4
2.(520+ 180)x8 =5600(7T)

% —3EAY 5600 TG,
3.(1)(6+5)x2=22CK)

B BT HU B KR 22 K

(2)206x7=1442(7C) 1442 7L<1500 JC
% 7y 1500 JoE 1.

40, IR BRI, NS AN RR, B 12+2=6()E
oK), M E KRGS 2 /b EIET TR, R IKREZ D,
HI 12+4=3(JE k).

5()—H: 354—180=174(F i)

—H: 496—354=142(T FLI)

=H: 605—496=109(F FLi)

PUH: 695—605=90(F FLIY)

FLH: 790—695=95(F FLi)

NH: 912—790=122(F FLi)

90 T FLI <95 F LAY <109 T FLA <122 F FLE <142 F FLAY <174

T FCH

% BRIME L FE—AHEERS, WHHEERD.
(2)912—180="732(T L)

% EeREESLHAT 732 TR

SRS s, T8 B, BRI
Ny ST, BIEEESRAE



OSRG-S FBHERSHES i
ST, AEREESRERR

6.16 i —12 i} =4 i}
25x4=100(T7) 350—100=250(71)
100+1=101(0)
Zr:o XARPIEE T 250 WA E. WHRE RMYBLE, BIE
101 T 46 -

i - 8
BES e, o, B, ERTHID

oy ST, ANEESHEAE





